Storage Racks- Chennai					International Storage Systems		Final International Storage systems		National Storage Sys		Amma Enterprises	
Sr. No	Item	Specifcation	UOM	Qty	Rate	Amount	Rate	Amount	Rate	Amout	Rate	Amount
1	depth 05' X height 08' having 04 levels with m.s. graiting. UDL 1500kgs. Upright & load beam powder coated & grating G.I.Schedule	Upright frame 03 piller frame (85mm x 40mm) of size H 2400mm x D 1500mm (750mm + 750mm) x 15g, Load beam 90mm x 40mm x 1500mm x 16g, Deck panel for bottom 03 levels 150mm x 1500mm x 20g.	Nos	10	30400.00	304000.00	28880.00	288800.00	52000.00	520000.00	35650.00	356500.00
		Extra Sheelve Charges									5000.00	50000.00
			Basic Amo	unt		304000.00		288800.00		520000.00		406500.00
	GST Amount : 12%				0		0		0		0	
	GST A			nt : 18%		54720		51984		93600		73170
				Amount		358720.00		340784.00		613600.00		479670.00

#### INTERNATIONAL STORAGE SYSTEMS

SPECIALIST IN SLOTTED ANGLE RACKS & STORAGE EQUIPMENTS
B-1, FLAT - 304, SATELITE CLASSIC, CAVES ROAD, JOGESHWARI (E), MUMBAI - 400 060.
PH: 289 0833 / MOBILE: 19620217716 / 9323875118
E-mail - ramanizumic 1963(Primalizumic)



REF:-ISS:KBC:rk:2024-0282.

DATE:-21/06/2024.

TO,
KAPCO BANQUETS & CATERING.
Mumbai.

Kind Attention:- Respected Mr. Santosh Sir.

Subj:- Revised Quotation for Slotted Angle Racks.

Respected Sir,
This has reference to your requirement for the above mentioned enquiry for which, We are submitting our lowest offer as under:-

Location	Sr. No.	Description	Qty/Unit	Rate /Unit	Total (₹)
		M.S. heavy duty rack of size			
		width 05' X depth 05' X			
		height 08' having 04 levels			
	A	with m.s. graitng. UDL			
		1500kgs. Upright & load			
		beam powder coated &			
		grating G.I.			
	100	Schedule of materials for 01			
		Main unit of racks.			
		Upright frame 03 piller frame			
		(85mm x 40mm) of size H		5,400.00	
	1	2400mm x D 1500mm	2		10,800.00
		(750mm + 750mm) x 16g.			
Mumbai	2	Load beam 90mm x 40mm x	8	1.200.00	9.600.00
		1500mm x 16g.		2,200.00	5,000.00
	_	Deck panel for bottom 03			
	3	levels 150mm x 1500mm x	40	300.00	12,000.00
		20g.			
				Total	32,400.00
		Cost of such 10 units.	10	32,400.00	3,24,000.00
		Transportation.			65,000.00
		Erection.			20,000.00
				Sub Total	4,09,000.00
I	l	GST @18%.	l		73,620.00

	Grand Total	4,82,620.00	Conto
HSN code:- 7301.			
GST:- 27ADLPJ2095G1ZE.	+	+	1

Tax: Included.

Transportations: Included.

Transportations: Included.

Transportations: Included.

Transportations: Included.

Lacal Hamalis: If applicable will be charged extra.

Delivery: Delivery will be completed withn 10-15 days after acceptance of your fully clarified and confirmed order.

Specification: 'ISS' Slotted Angle are manufactured from cold rolled steel sheets. (IS-513/1733). All steel parts degrussed, derusted and chemically pre-treated and finished tough duty battelship stoving enamel color.

IdS's bolts/nuts are cold forged electrogalvanised and passivated.

Validity: 10 days.

Payment: 50% advance and balance against completion of work in 8 days.

Warrantys: For the period of 12 months from the date of supply.

Force-major: All supplies are subjected to force-major clauses.

We hope you will find our offer quite competitive and awati your valued order. Should you require any further clarification, assistance please do not hesistate to write or call us.

We are Yours faithfully, For INTERNATIONAL STORAGE SYSTEMS.

RAMAN KUMAR

	Quo	tation						
NATIONAL S	TC	RA	GE SY	STEMS	5			
B 110 DDA	Sheds	Okhla In	d Area Ph1					
	New	Delhi 20						
Billing Address				Date			Jun-24	
SEMOLINA CHENNAI				Quotation No.	N012/23-24			24
				Subject			rack	
CHENNAI				Account Details				
SEMOLINA CHENNAI				Axis Bank CODE:UTIB0001103 Okhla Branch Current A/C No 911020034268844				
				Basic				GST
Sr. No. Items/Description		Qty	Rate	Amount		CGST	SGST	Amount
1 HEAVY DUTY PALLET RACK 8FTX5FTX5FT		10	52,000	5,20,000	18%			93,600
WITH 3 LEVELS MADE BY 6 LEGS OF 2.5FT+2.5FT					18%			-
					4.007			_
VERTICAL AND BEAM 2MM DEC PANEL 1.6MM					18%			
VERTICAL AND BEAM 2MM DEC PANEL 1.6MM					18%			
VERTICAL AND BEAM 2MM DEC PANEL 1.6MM								
			10,000	10,000	18%			- 1 800
FIXING CHARGES	Lot	0	10,000	10,000				1,800
FIXING CHARGES	Lot	0	10,000 - Total	10,000	18% 18%			- 1,800 - 95,400

## PROFORMA INVOICE

Terms of Delivery

# **€**Æ

## AMMA ENTERPRISES

12B, Raghavan Nagar Main Road (Near Amudham Nagar Arch) Kodungaiyur, Chennai -600 118 Phone No:+91 84285 38078/99402 50078 GSTIN/UIN: 33AZHPP6284F1Z5

State Name: Tamil Nadu, Code: 33 E-Mail: ammaenterpriseschennai@gmail.com Invoice No.
77
15-Jun-24
Delivery Note
Mode/Terms of Payment
Buyer's Order No.
Dispatch Doc No.
Delivery Note Date
Dispatched through
Destination

Buyer (Bill to)

## Travel Food Services Chennai Pvt Ltd

Near S2 Airport Police Station, Chennai

International Airport, Chennai

E.	Mail : vijayakumar.s@t									
SI No.	Description of Goods	HSN/SAC	GST Rate	Quantity	Rate	per	Disc. %	Amount		
1	Godrej MS Heavy Storage W1510xD1200xHT2400- mm 3Level/ 700kgs UDL Max	8215	18 %	1 nos	25,300.00	nos		25,300.00		
2		8215	18 %	1 nos	35,650.00	nos		35,650.00		
								60,950.00		
	Output Cgst							5,485.50		
	continued to page number 2									